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QUESTION 1

Which version of communication protocol is used in a virtualized network?
A.VTFP

B. Ipv2

C. IPv6

D. RIPv1

Correct Answer: A

QUESTION 2

Which technique best explains the use of the grained policies and network to enable security inside the data center?
A. Micro-division

B. Bifurcation

C. Dissection

D. Micro-segmentation

Correct Answer: D

QUESTION 3

Which of these allows static or dynamic grouping based on inclusion and exclusion of objects such as virtual machines,
VNICs, cSphere clusters, and logical switches?

A. uplink

B. Active Directory (AD)
C. Port

D. Security group

Correct Answer: D

QUESTION 4

Which component of NSX logical firewall, offers by the NSX Edge Services Gateway (ESG), focuses on North-South
traffic enforcement at the data center perimeter or tenant perimeter?

A. Distributed firewall
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B. Centralized NSX Edge firewall
C. NSX controller cluster
D. Distributed logical router

Correct Answer: A

QUESTION 5

What are two advantages of embedding the security functions in the hypervisor? (Choose two.)
A. Manages security posture of workloads at scale.

B. Enables high throughput rates.

C. Secure East-West traffic between each single virtual machine.

D. Avoids hairpinning of resources.

Correct Answer: AC
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